
Q.1 िन�िल�खत म� से कौन-सी सं�ा दी गई �ंृखला म� ��वाचक िच� (?) का �थान लेगी?

55, 75, 100, 135, 190, ?
Ans 1. 280

2. 290

3. 285

4. 295

Question ID : 26433057333

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.2 दी गई �ंृखला को पूरा करने के िलए कौन-सा अ�र-समूह �� िच� (?) को �ित�थािपत करेगा?
PORK, NQPM, LSNO, JULQ, ?

Ans 1. HWJS

2. HXJS

3. HWKR

4. HXKS

Question ID : 26433055245
Status : Answered

Chosen Option : 1

Q.3 यिद + का अथ� − है, × का अथ� + है, − का अथ� ÷ है, ÷ का अथ� × है, तो ��-िच� (?) के �थान पर �ा
आएगा?
89 × 36 – 9 + 2 ÷ 11 = ?

Ans 1. 71

2. 79

3. 83

4. 92

Question ID : 26433068120
Status : Answered

Chosen Option : 1

Sub Inspector in Delhi Police and Central Armed Police Forces
Examination 2022
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Candidate Name
Venue Name
Exam Date 10/11/2022
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Q.4

Ans 1.  27

2.  35

3.  31

4. 22

Question ID : 26433057628
Status : Answered

Chosen Option : 1

Q.5

Ans

1. 

2. 

3. 

4. 

Question ID : 26433055743
Status : Answered

Chosen Option : 2
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Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 26433066206
Status : Answered

Chosen Option : 2
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Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067459
Status : Answered

Chosen Option : 4
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Q.8

Ans

1. 

2. 

3. 

4. 

Question ID : 26433090222
Status : Answered

Chosen Option : 3

Q.9

Ans 1.  1

2. 3

3.  5

4.  6

Question ID : 26433058067
Status : Answered

Chosen Option : 3
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Q.10 यिद – का अथ� + है, × का अथ� ÷ है , ÷ का अथ� − है, + का अथ� × है, तो ��-िच� (?) के �थान पर �ा
आएगा?
32 + 36 × 4 – 21 ÷ 56 = ?

Ans 1. 253

2. 323

3. 276

4. 283

Question ID : 26433068116
Status : Answered

Chosen Option : 1

Q.11 दो कथनो ंके बाद तीन िन�ष� I, II और III िदए गए ह�। कथनो ंको स� मानते �ए, भले ही वे सामा�
�प से �ात त�ो ंसे िभ� �तीत होते हो,ं यह िनण�य लीिजए िक कौन-सा/से िन�ष� कथनो ंका तािक� क
�प से अनुसरण करता है/करते ह�।
कथन:
सभी ढोल घंिटयाँ ह�।
सभी सीटी घंिटयाँ ह�।
िन�ष�
I. कुछ ढोल सीटी ह�।
II. कुछ घंिटयाँ ढोल ह�।
III. कुछ घंिटयाँ सीटी ह�।

Ans 1. िन�ष� II और III दोनो ंअनुसरण करते ह�।

2. िन�ष� I और II दोनो ंअनुसरण करते ह�।

3. िन�ष� I, II और III अनुसरण करते ह�।

4. िन�ष� I और III दोनो ंअनुसरण करते ह�।

Question ID : 26433056063
Status : Answered

Chosen Option : 1

Q.12 'B &D' का अथ� है 'B, D का भाई है'।
'B × D' का अथ� है 'B, D की माँ है'।
'B # D' का अथ� है 'B, D की प�ी है'।
'B $ D' का अथ� है 'B, D का बेटा है'।
'B @ D' का अथ� है 'B, D की माँ है'।
िन�िल�खत �ंजक म� B, G से िकस �कार संबंिधत है?
A × B # F $ C @ E # G

Ans 1. चाची

2. सहोदर

3. माँ

4. प�ी के भाई की प�ी

Question ID : 26433057299
Status : Answered

Chosen Option : 4
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Q.13

Ans

1. 

2. 

3. 

4. 

Question ID : 26433070433
Status : Answered

Chosen Option : 1

Q.14 उस श�-यु� का चयन कर�  िजसम� दो श� उसी �कार संबंिधत ह� िजस �कार िदए गए यु� म� दो श�
संबंिधत ह�।
शेर : जंगल

Ans 1. शाक�  : महासागर

2. मधुम�ी : शहद

3. दुख : �ेम

4. फूल : शहद

Question ID : 26433082756
Status : Answered

Chosen Option : 3
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Q.15

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068395
Status : Answered

Chosen Option : 3

Q.16 सात ��� A, B, C, D, E, F और G सीधी पं�� म� उ�र की ओर मुख करके बैठे ह�। C के बाई ंओर
मा� दो ��� बैठते ह�। A और B के म� मा� दो ��� बैठते ह�। B, A के बाई ंओर बैठता है। E, A के
ठीक पास दाई ंओर समीप�थ है। मा� एक ��� D के दाई ंओर बैठता है। F, B के ठीक पास समीप�थ
नही ंहै। क� � म� कौन बैठता है?

Ans 1. E

2. C

3. D

4. A

Question ID : 26433055889
Status : Answered

Chosen Option : 4
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Q.17 उस समु�य का चयन कीिजए, िजसम� सं�ाएँ उसी �कार संबंिधत ह�, िजस �कार िदए गए समु�य की
सं�ाएँ आपस म� संबंिधत ह�।
(नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएँ की
जा सकती है। उदाहरण के िलए 13 - सं�ा 13 पर गिणतीय संि�याएँ जैसे िक जोड़ना/घटाना/गुणा
करना आिद को 13 पर ही िकया जा सकता है। 13 को 1 और 3 म� िवभािजत करने और िफर 1 और 3
पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।)
(7, 12, 25)
(6, 9, 21)

Ans 1.  (9, 13, 24)

2. (5, 8, 19)

3.  (4, 11, 20)

4.  (8, 14, 24)

Question ID : 26433057074
Status : Not Answered

Chosen Option : --

Q.18 उस िवक� का चयन कर� , जो उन अ�रो ंका �ितिनिध� करता है, जो �र� �थानो ंम� �िमक �प से
बाएँ से दाएँ रखे जाने पर दी गई अ�र �ंखला को पूरा कर� गे।
_ S J _ P S _ _ P _ J A _ S _ A

Ans 1. P A S A S P J

2. P A J A S P J

3. P A J S A P J

4. P A A J S P A

Question ID : 26433056777
Status : Answered

Chosen Option : 3

Q.19 एक प�ी अपने घोसंले से 25 m उ�र-पूव� की ओर उड़ता है। इसके बाद यह दाय� मुड़ता है और 7 m की
उड़ान भरता है। िफर से, यह दाय� मुड़ता है और 75 m की उड़ान भरता है। प�ी अब अपने घोसंले से
िकस िदशा म� है?

Ans 1. पूव�

2. उ�र-पि�म

3. उ�र-पूव�

4. दि�ण-पि�म

Question ID : 26433057305
Status : Answered

Chosen Option : 4
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Q.20

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057534
Status : Answered

Chosen Option : 2

Q.21 िन�िल�खत म� से कौन-सी सं�ा दी गई �ंृखला म� �� िच� (?) के �थान पर आएगी?
101, 182, 118, 167, ?

Ans 1. 156

2. 131

3. 128

4. 142

Question ID : 26433067635
Status : Not Answered

Chosen Option : --
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Q.22 एक िनि�त कूट भाषा म� 'JACCUZI' को 'KZDBVYJ' िलखा जाता है और 'QUIZZER' को
'RTJYADS' िलखा जाता है। उस भाषा म� 'BUZZWIG' को कैसे िलखा जाएगा?

Ans 1. ZTAXJHH

2. ZVAAXJK 

3. DVBYYIJ 

4. CTAYXHH 

Question ID : 26433056563
Status : Not Answered

Chosen Option : --

Q.23 िकसी कोड भाषा म� 'you can start' को 'sent room dark' के �प म� िलखा जाता है, 'can you
read’ को 'room sent less' के �प म� िलखा जाता है और 'you are good’ को 'tyre room spin' के
�प म� िलखा जाता है। इसी भाषा म� 'can' श� के िलए �ा कोड है?

Ans 1.  dark

2.  room

3.  sent

4.  spin

Question ID : 26433056270
Status : Answered

Chosen Option : 2

Q.24

Ans 1.  32

2.  28

3.  26

4.  24

Question ID : 26433057623
Status : Answered

Chosen Option : 3

Q.25 छः  ब�े अथा�त् 1, 2, 3, 4, 5, और 6 लूडो खेल रहे ह�। 1 और 5 भाई ह�। 6, 5 की बहन है। 3, 1 के िपता
के भाई का इकलौता पु� है। 2 और 4, 3 के िपता के इकलौते भाई की बेिटयां ह�। 4, 1 से िकस �कार
संबंिधत है?

Ans 1. चाचा

2. चचेरा/चचेरी भाई/बहन

3. भतीजी

4. बहन

Question ID : 26433069180
Status : Answered

Chosen Option : 4
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Q.26 दो कथनो ंके बाद दो िन�ष� I और II िदए गए ह�। कथनो ंको स� मानते �ए, भले ही वे सामा� �प से
�ात त�ो ंसे िभ� �तीत होते हो,ं यह िनण�य लीिजए िक कौन-सा/से िन�ष� कथनो ंका तािक� क �प से
अनुसरण करता है/करते ह�।

कथन:
कुछ छ�े स�े ह�।
कोई भी स�े अ�े नही ंहै।

िन�ष�:
I. सभी अ�े छ�े ह�।
II. कोई भी अ�ा छ�ा नही ंहै।

Ans 1. केवल िन�ष� II अनुसरण करता है।

2. केवल िन�ष� I अनुसरण करता है।

3. न तो िन�ष� I और न ही II अनुसरण करता है।

4. िन�ष� I और II दोनो ंअनुसरण करते ह�।

Question ID : 26433056057
Status : Answered

Chosen Option : 1

Q.27 उस िवक� का चयन कीिजए, िजसका पाँचव� अ�र-समूह से ठीक वही संबंध है, जो संबंध दूसरे अ�र-
समूह का पहले अ�र-समूह से है और वही संबंध चौथे अ�र-समूह का तीसरे अ�र-समूह से है।
LIST: JNGKQURV :: MOAN: KOMQYCLP :: PLUM: ?

Ans 1. NRJNKOSW 

2.  NRSWKOJN

3.  NRSWJNKO

4.  NRJNSWKO

Question ID : 26433056281
Status : Not Answered

Chosen Option : --

Q.28 अं�ेजी वण�माला �म म� ��थित के आधार पर, िन�िल�खत म� से तीन अ�र-समूह िकसी न िकसी �कार
से एक समान ह� और एक िभ� है। िभ� अ�र-समूह का चयन कर�।

Ans 1. FIMP

2. BEIL

3. LOSV

4. JMPT

Question ID : 26433065655
Status : Answered

Chosen Option : 4

Q.29 िदए गए समीकरण को सही बनाने (संतुिलत करने) के िलए िकन दो गिणतीय िच�ो ंको आपस म�
बदलना होगा?
12 + 156 ÷ 13 × 6 - 100 = 50

Ans 1. - और ×

2. + और ×

3. ÷ और ×

4. ÷ और -

Question ID : 26433059954
Status : Answered

Chosen Option : 2
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Q.30 उस समु�य का चयन कीिजए िजसम� सं�ाएँ आपस म� उसी �कार संबंिधत ह� िजस �कार िन�िल�खत
समु�यो ंकी सं�ाएँ आपस म� संबंिधत ह�। (नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए
िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएं की जानी चािहए। उदाहरण के िलए 13 - गिणतीय संि�याएं
जैसे िक जोड़ना/घटाना/गुणा करना इ� यािद 13 म� िकया जा सकता है। 13 को 1 और 3 म� िवभािजत
करना और िफर 1 और 3 पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।) 
(14, 25, 38) 
(8, 19, 32)

Ans 1. (24, 35, 46) 

2. (13, 26, 37) 

3. (15, 28, 41) 

4. (6, 17, 30) 

Question ID : 26433057443
Status : Answered

Chosen Option : 4

Q.31 यिद A का अथ� '+' है, B का अथ� '×' है, C का अथ� '-' है और D का अथ� '÷' है, तो िन�िल�खत �ंजक का
मान �ा होगा?
456 C 236 D 2 A 14 B 1

Ans 1. 453

2. 353

3. 352

4. 234

Question ID : 26433068696
Status : Answered

Chosen Option : 3

Q.32

Ans 1. 

2. 

3. 

4. 

Question ID : 26433068729
Status : Answered

Chosen Option : 2
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Q.33 दो कथनो ंके बाद तीन िन�ष� I, II और III िदए गए ह�। कथनो ंको स� मानते �ए, भले ही वे सामा�
�प से �ात त�ो ंसे िभ� �तीत होते हो,ं यह िनण�य लीिजए िक कौन-सा/से िन�ष� कथनो ंका तािक� क
�प से अनुसरण करता है/करते ह�।
कथन
सभी बैग पेन ह�
सभी प��िसल पेन ह�
िन�ष�
I. कुछ पेन बैग ह�।
II. सभी बैग प��िसल ह�।
III. कुछ पेन प��िसल ह�

Ans 1. िन�ष� I और III दोनो ंअनुसरण करते ह�।

2. िन�ष� II और III दोनो ंअनुसरण करते ह�।

3. िन�ष� I, II और III अनुसरण करते ह�।

4. िन�ष� I और II दोनो ंअनुसरण करते ह�।

Question ID : 26433056061
Status : Answered

Chosen Option : 1

Q.34 उस समु�य का चयन कीिजए, िजसम� सं�ाएँ उसी �कार संबंिधत ह�, िजस �कार िदए गए समु�य की
सं�ाएँ आपस म� संबंिधत ह�।
(नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएँ की
जा सकती है। उदाहरण के िलए 13 - सं�ा 13 पर गिणतीय संि�याएँ जैसे िक जोड़ना/घटाना/गुणा
करना आिद को 13 पर ही िकया जा सकता है। 13 को 1 और 3 म� िवभािजत करने और िफर 1 और 3
पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।)
(2, 28, 4)
(3, 22, 2)

Ans 1.  (4, 31, 3)

2.  (6, 29, 3)

3.  (1, 10, 5)

4. (7, 32, 2 )

Question ID : 26433057096
Status : Not Answered

Chosen Option : --

Q.35 एक िनि�त कूट भाषा म�, 'VACCINE' को 'WCFGNTL' के �प म� िलखा जाता है और 'SYRINGE' को
'TAUMSML' के �प म� िलखा जाता है। उसी भाषा म� 'NEEDLE' को िकस �कार िलखा जाएगा?

Ans 1. OGHHRK 

2. OFHHQK 

3. OGHJQK  

4. OGHHQK 

Question ID : 26433056376
Status : Answered

Chosen Option : 4

Q.36 * िच�ो ंको �मानुसार �ित� थािपत करने और िदए गए समीकरण को संतुिलत करने के िलए गिणतीय
िच�ो ंके सही संयोजन का चयन कर�।
355 * (12 * 3) * 289 * (186 * 6) * 71

Ans 1. ÷, −, =, ÷, ×, −

2. ×, =, −, +, ÷, +

3. ×, +, −, =, ÷, +

4. +, ×, =, +, ÷, +

Question ID : 26433057660

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.37 िकसी कोड भाषा म� 'TRUCKS' को ‘GIFXPH’ के �प म� िलखा जाता है और ‘WASTE’ को ‘DZHGV’
के �प म� िलखा जाता है। उसी भाषा म� 'FANTASY' को िकस �कार िलखा जाएगा?

Ans 1. UZGMZHB 

2.  UZMGHZB

3. UZMGZHB

4. UZMZGHB 

Question ID : 26433056262
Status : Answered

Chosen Option : 3

Q.38 िदए गए िवक�ो ंम� से वह सं�ा चुिनए, जो िन�िल�खत �ंखला म� ��-िच� (?) को �ित�थािपत कर
सके।
39, 53, ?, 108, 149, 199

Ans 1. 76

2. 79

3. 72

4. 81

Question ID : 26433057027
Status : Not Answered

Chosen Option : --

Q.39 कौन-सा िवक� ��ुत श�ो ंके ऐसे सही �म का �ोतक है, जैसा िक वे िकसी अँ�ेजी श�कोश म�
िदख�?
1 Pelvic
2 Pentagon
3 Permanent
4 Persistent
5 Perceive

Ans 1. 1,2,3,4,5

2. 1,2,5,3,4

3. 1,3,2,4,5

4. 1,2,4,3,5

Question ID : 26433069259
Status : Answered

Chosen Option : 2

Q.40 उस िवक� प का चयन कीिजए जो िदए गए श� दो ंके उस �म को दशा�ता है िजस �म म� वे अं�ेजी
श� दकोश म� होते ह�।
1.Tattoo
2.Tatters
3.Tatting
4.Tattle
5.Taut

Ans 1. 4, 5, 1, 2, 3

2. 5, 4, 3, 2, 1

3. 2, 4, 5, 3, 1

4. 2, 3, 4, 1, 5

Question ID : 26433067235
Status : Answered

Chosen Option : 4
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Q.41 तीन कथन और उनके बाद चार िन�ष� �मांक 1, 2, 3 और 4 िदए गए ह�। कथनो ंको स� मानते �ए,
भले ही वे सामा� �प से �ात त�ो ंसे िभ� �तीत होते हो,ं िनण�य कर�  िक कौन सा िन�ष� तािक� क
�प से कथनो ंका अनुसरण नही ंकरता है।

कथन:
सभी K, S ह�।
कोई भी S, B नही ंहै।
कुछ B, T ह�।

िन�ष�:
1) कोई भी K, B नही ंहै।
2) कुछ T, S नही ंह�।
3) कुछ T, B ह�।
4) सभी B के K होने की संभावना है।

Ans 1. केवल िन�ष� 4 अनुसरण नही ंकरता है।

2. केवल िन�ष� 2 अनुसरण नही ंकरता है।

3. केवल िन�ष� 3 अनुसरण नही ंकरता है।

4. केवल िन�ष� 1 अनुसरण नही ंकरता है।

Question ID : 26433069183
Status : Answered

Chosen Option : 1

Q.42 अ�रो ंके उस संयोजन का चयन कर�  जो दी गई �ंृखला के �र� �थानो ंम� �िमक �प से रखे जाने पर
�ंृखला को पूण� करेगा।
L _ _ LM _ L _ L _ ML

Ans 1. MMMLL

2. MLLML

3. LMLLM

4. LMMML

Question ID : 26433057729
Status : Answered

Chosen Option : 2

Q.43 रीमा अपने घर से �ारंभ करके पि�म की ओर 4 km साइिकल चलाती है और िफर दाएँ मुड़ती है और 6
km साइिकल चलाती है। वह िफर से दाएँ मुड़ती है और अपने �ूल प�ँचने के िलए X km साइिकल
चलाती है। िबंदु A उसके �ूल के दि�ण म� है और साथ ही उसके घर से पि�म म� 2 km दूरी पर है। X
का मान �ा है?

Ans 1. 6 km

2. 8 km

3. 4 km

4. 2 km

Question ID : 26433058022
Status : Answered

Chosen Option : 3
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Q.44

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056677
Status : Answered

Chosen Option : 2

Q.45 दी गई �ंृखला को पूरा करने के िलए कौन-सा अ�र-समूह �� िच� (?) को �ित�थािपत करेगा?
RSBG, NPEI, ?, FJKM, BGNO

Ans 1. JMGK

2. JMHL

3. JMHK

4. JNHK

Question ID : 26433067964
Status : Answered

Chosen Option : 4
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Q.46 िन� नांिकत म� से कौन-सी सं�ा दी गई �ंृखला म� �� िच� (?) के � थान पर आएगी?

13, 26, 23, 115, 108, ?
Ans 1. 1881

2. 1188

3. 1818

4. 1118

Question ID : 26433059920
Status : Not Answered

Chosen Option : --

Q.47 उस समु�य का चयन कीिजए, िजसम� सं�ाएँ उसी �कार संबंिधत ह�, िजस �कार िदए गए समु�य की
सं�ाएँ आपस म� संबंिधत ह�।
(नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएँ की
जा सकती है। उदाहरण के िलए 13 - सं�ा 13 पर गिणतीय संि�याएँ जैसे िक जोड़ना/घटाना/गुणा
करना आिद को 13 पर ही िकया जा सकता है। 13 को 1 और 3 म� िवभािजत करने और िफर 1 और 3
पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।)
(16, 22, 28)
(14, 19, 23)

Ans 1.  (15, 26, 31)

2. (17, 24, 41)

3.  (13, 21, 27)

4.  (12, 18, 25)

Question ID : 26433057073
Status : Not Answered

Chosen Option : --
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Q.48

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056830
Status : Not Answered

Chosen Option : --

Q.49 िन�िल�खत चार अ�र-समूहो ंम� से तीन एक िनि�त तरीके से समान ह� और एक अलग है। अलग अ�र-
समूह का चयन कर�।

Ans 1. MSN

2. QUK

3. OUL

4. PVK

Question ID : 26433057220
Status : Answered

Chosen Option : 1
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Q.50 छ: िव�ाथ� एक वृ�ाकार मेज के प�रतः  क� � की ओर मुख करके बैठे ह�। सोनल, लाव�ा के दाई ंओर
दूसरे �थान पर बैठी है। राणा, सोनल के दाई ंओर दूसरे �थान पर बैठा है। क�र�ा, राणा के दाई ंओर
तीसरे �थान पर बैठी है। मैरी, राणा और सोनल दोनो ंकी िनकटतम पड़ोसी है। कुमारी के दाई ंऔर
बगल म� कौन बैठा है?

Ans 1. क�र�ा

2. राणा

3. मेरी

4. लाव�ा

Question ID : 26433056041
Status : Answered

Chosen Option : 4

Q.1 यौिगक के नाम और उसके सू� का/के िन�िल�खत म� से कौन सा/से यु� सही है/ह�?
I. हाइड� ोजन �ोराइड - H2Cl
II. हाइड� ोजन स�ाइड - HS2

Ans 1. केवल I

2. केवल II

3. I और II दोनों

4. न तो I और न ही II

Question ID : 26433054012
Status : Answered

Chosen Option : 4

Q.2 िन�िल�खत म� से कौन-सा कुपोषण का एक गंभीर �प है जो आमतौर पर िशशुओ ंऔर ब�ो ंको
�भािवत करता है, जो अ�र 5 साल की उ� म� दूध छुड़ाने की उ� के आसपास होता है?

Ans 1. �ािशयोरकर

2. डाय�रया

3. बै� टी�रयल मेिनंजाइिटस

4. िनमोिनया

Question ID : 26433054116
Status : Answered

Chosen Option : 1

Q.3 भारत के संिवधान का कौन सा अनु�ेद रा�� पित को संसद के दोनो ंसदनो ंकी संयु� बैठक बुलाने की
श�� �दान करता है?

Ans 1. अनु�ेद 108

2. अनु�ेद 331

3. अनु�ेद 85

4. अनु�ेद 105

Question ID : 26433064713
Status : Answered

Chosen Option : 3

Section : General Knowledge and General Awareness
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Q.4 िन�िल�खत म� से िकस िव�िव�ालय की �थापना पंिडत मदन मोहन मालवीय ने की थी?
Ans 1. िद�ी िव�िव�ालय

2. पंजाब िव�िव�ालय

3. बनारस िहंदू िव�िव�ालय

4. संबलपुर िव�िव�ालय

Question ID : 26433080985
Status : Answered

Chosen Option : 3

Q.5 ________ म� मुगल स�ाट ने कंपनी को बंगाल �ांतो ंके दीवान के �प म� िनयु� िकया।
Ans 1. 1770

2. 1750

3. 1754

4. 1765

Question ID : 26433074141
Status : Answered

Chosen Option : 2

Q.6 1990 म� �ए िव� पैरा टेबल टेिनस च��िपयनिशप का पहला सं�रण िन�िल�खत म� से िकस �थान पर
आयोिजत िकया गया था?

Ans 1. �ेनेडा, �ेन

2. एसेन, नीदरल�ड्स

3. बीिजंग, चाइना

4. ला�ो, �ोवेिनया

Question ID : 26433059420
Status : Not Answered

Chosen Option : --

Q.7 आधुिनक तकनीक के उपयोग से उ� िवकास दर और अथ��व�था की आ�िनभ�रता तभी �ा� की जा
सकती है जब:

Ans 1. अथ��व�था अंतररा�� ीय �ापार म� भाग लेती है

2. यह एक पँूजीवादी अथ��व�था है

3. आिथ�क समृ�� का लाभ अमीरो ंतक प�ँचे

4. आिथ�क समृ�� का लाभ गरीबो ंतक प�ँचे

Question ID : 26433054593
Status : Answered

Chosen Option : 4

Q.8 िसकंदर लोदी ने िन�िल�खत म� से िकस वष� आगरा की �थापना की थी?
Ans 1. 1499 CE

2. 1504 CE

3. 1508 CE

4. 1506 CE

Question ID : 26433082062
Status : Answered

Chosen Option : 3
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Q.9 �िस� सरोद वादक उ�ाद अलाउ�ीन खान िन�िल�खत म� से िकस संगीत घराने से थे?
Ans 1. बनारस

2. कसूर-पिटयाला

3. मैहर

4. रंगीला

Question ID : 26433055386
Status : Not Answered

Chosen Option : --

Q.10 1856 म�, गवन�र-जनरल ______ ने फैसला िकया िक बहादुरशाह ज़फर अंितम मुगल बादशाह होगें और
उनकी मृ�ु के बाद उनके िकसी भी वंशज को बादशाह के �प म� मा�ता नही ंदी जाएगी - उ�� केवल
राजकुमारो ंके �प म� मा�ता दी जाएगी।

Ans 1. मुनरो

2. कान�वािलस

3. कैिनंग

4. हे��ं�

Question ID : 26433064607
Status : Answered

Chosen Option : 1

Q.11 15 माच� 2021 तक �ा� जानकारी के अनुसार, भारत के सव�� �ायालय म� िकतनी मिहला �ायाधीश
ह�?

Ans 1. 3

2. 4

3. 2

4. 5

Question ID : 26433069895
Status : Not Answered

Chosen Option : --

Q.12 िन�िल�खत म� से कौन-सी नृ� शैली िब� नृ� से �भािवत है?
Ans 1. स���या

2. कथक

3. मिणपुरी

4. कुिचपुड़ी

Question ID : 26433054311
Status : Answered

Chosen Option : 1

Q.13 िन�िल�खत म� से कौन-सा भौितक िस�ांत रॉकेट इंजन, जेट इंजन और अप�ीित वाले गु�ारो ं�ारा
पैदा होने वाले �णोद की �ा�ा करता है?

Ans 1. �ूटन के गित के िनयम

2. ऊ�गितकी के िनयम

3. बिह�रण िस�ांत

4. फैराडे के िवद्युत चु�कीय �ेरण के िनयम

Question ID : 26433055748
Status : Answered

Chosen Option : 1
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Q.14 नौवी ंऔर दसवी ंपंचवष�य योजना के दौरान वा�िवक िवकास दर �मशः  ________ और ________
थी।

Ans 1. 5.4 �ितशत, 7.6 �ितशत

2. 7.2 �ितशत, 8.4 �ितशत

3. 7.2 �ितशत, 7.6 �ितशत

4. 6.5 �ितशत, 8.1 �ितशत

Question ID : 26433054771
Status : Not Answered

Chosen Option : --

Q.15 िन�िल�खत म� से िकस अनु�ेद म� यह उ�ेख िकया गया है िक नीित िनदेशक िस�ांत � यायालय �ारा
�वत�नीय नही ंह�?

Ans 1. अनु�ेद 37

2. अनु�ेद 39

3. अनु�ेद 38

4. अनु�ेद 40

Question ID : 26433069863
Status : Answered

Chosen Option : 1

Q.16 िन� म� से िकस नाम से लघु िहमालय और िशवािलक के बीच ��थत घािटयो ंको जाना जाता है?
Ans 1. माग�

2. दून

3. तराई

4. बेट

Question ID : 26433081916
Status : Answered

Chosen Option : 2

Q.17 वे यौिगक िजनम� केवल दोहरे काब�न-काब�न बंध होते ह�, _______ कहलाते ह�।
Ans 1. टप�न

2. डाइए� काइन

3. डाइईन

4. ट� ाइए� काइन

Question ID : 26433064129
Status : Answered

Chosen Option : 2

Q.18 भारत ने पहली बार आईसीसी T20 िव� कप ि�केट की मेजबानी िकस वष� म� की थी?
Ans 1. 2018

2. 2016

3. 2012

4. 2014

Question ID : 26433054680
Status : Answered

Chosen Option : 2
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Q.19 वै�ीकरण के संदभ� म� िन� म� से कौन सा/से कथन सही है/ह�?
I. इसम� आिथ�क, सामािजक और भौगोिलक सीमाओ ंसे परे नेटवक�  और गितिविधयो ंका िनमा�ण शािमल
है।
II. आउटसोिस�ग वै�ीकरण �ि�या के मह�पूण� प�रणामो ंम� से एक है।

Ans 1. न तो I और न ही II

2. केवल II

3. I और II दोनों

4. केवल I

Question ID : 26433059309
Status : Answered

Chosen Option : 3

Q.20 एक एनबीएफसी – एमएफआई (NBFC – MFI) के िलए पंूजी-पया��ता अनुपात _______ होता है।
Ans

1. 

2. 

3. 

4. 

Question ID : 26433064103
Status : Not Answered

Chosen Option : --

Q.21 िन�िल�खत म� से कौन सा एक रा�� ीय राजनीितक दल नही ंहै?
Ans 1. भारतीय जनता पाट�

2. ब�जन समाज पाट�  

3. नेशनिल� कां�ेस पाट�  

4. नेशनल कॉ��� स  

Question ID : 26433054093
Status : Answered

Chosen Option : 4

Q.22 िकसका िनयम बताता है िक िवद्युत प�रपथ म� िकसी संिध पर संिध म� �वािहत होने वाली धाराओ ंका
योग संिध से िनकलने वाली धाराओ ंके योग के बराबर होता है?

Ans 1. जॉज� साइमन ओ�

2. िव�र �ांिसस हेस

3. माइकल फैराडे

4. गु�ाव रॉबट� िकरचॉफ

Question ID : 26433055075
Status : Answered

Chosen Option : 3
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Q.23 िन� म� से िकस त� का परमाणु �मांक 87 है?
Ans 1. सीिज़यम

2. �िबिडयम

3. �ै��शयम

4. िलिथयम

Question ID : 26433055765
Status : Not Answered

Chosen Option : --

Q.24 सालबाई की संिध के प�रणाम��प िन� म� से िकस यु� का अंत �आ था?
Ans 1. पानीपत का तीसरा यु�

2. ि�तीय आं�-मराठा यु�

3. �थम मराठा यु�

4. ब�र का यु�

Question ID : 26433055634
Status : Answered

Chosen Option : 2

Q.25 नीरद सी. चौधरी की आ�कथा का नाम ___________ है।
Ans 1. मैटस� ऑफ िड��शन

2. एन ऑटोबायो�ाफी ऑफ ए योगी

3. द रेस ऑफ माय लाइफ

4. द ऑटोबायो�ाफी ऑफ एन अननोन इंिडयन

Question ID : 26433054235
Status : Not Answered

Chosen Option : --

Q.26 िन�िल�खत म� से कौन-सा तरल, सोना और �ेिटनम जैसी उ�ृ� धातुओ ंको घोल सकता है?
Ans 1. फॉिम�क अ�

2. �ोरोफॉम�

3. एिसिटक अ�

4. अ�राज (ए�ा रेिजया)

Question ID : 26433054910
Status : Answered

Chosen Option : 4

Q.27 भारतीय बांसुरी वादक ह�र �साद चौरिसया िन�िल�खत म� से िकस संगीत घराने से संबंिधत ह�?
Ans 1. �स�ा

2. मैहर

3. रामपुर-जयपुर

4. सेिनया

Question ID : 26433055383
Status : Not Answered

Chosen Option : --
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Q.28 िन� म� से कौन सा/से कथन सही है/ह�?
I. हवा की अिधक मा�ा म� दहन पर, िलिथयम मु�तः  ऑ�ाइड बनाता है।
II. �ार धातु के सभी हैलाइड, उ� गलनीय, रंगहीन ि��लीय तरल पदाथ� होते ह�।

Ans 1. केवल II

2. केवल I

3. न तो I और न ही II

4. I और II दोनों

Question ID : 26433054914
Status : Answered

Chosen Option : 2

Q.29 'द इनहे�रटे� ऑफ लॉस' के लेखक कौन ह�?
Ans 1. अ�ंधित रॉय

2. झु�ा लािहड़ी

3. चेतन भगत

4. िकरण देसाई

Question ID : 26433054279
Status : Not Answered

Chosen Option : --

Q.30 लेड �ोमेट जो िवषैला और क� सरकारी (कािस�नोजेिनक) होता है, __________ पाउडर की िमलावट के
िलए �योग िकया जाता है।

Ans 1. अदरक

2. िमच�

3. लहसुन

4. ह�ी

Question ID : 26433054930
Status : Not Answered

Chosen Option : --

Q.31 75वी ंएनएसएस (NSS) �रपोट� के अनुसार, ______ रा�, 57.6% �ितशत की मिहला सा�रता दर से
साथ, सबसे कम सा�र मिहलाओ ंवाला रा� है।

Ans 1. िबहार

2. उ�र �देश

3. राज�थान

4. आं��देश

Question ID : 26433069789
Status : Not Answered

Chosen Option : --

Q.32 'द गॉडफादर ऑफ सोल' __________ की आ�कथा है, जो महान संगीतकारो ंम� से एक थे/थी।
Ans 1. जे� �ाउन

2. टीना टन�र

3. जॉनी कैश

4. कट� कोबेन

Question ID : 26433054239
Status : Not Answered

Chosen Option : --
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Q.33 �िस� संगीतकार अ�ा जलगांवकर िकस वा�-यं� से संबंिधत ह�?
Ans 1. वायिलन

2. तबला

3. हारमोिनयम

4. सरोद

Question ID : 26433054400
Status : Not Answered

Chosen Option : --

Q.34 िकसी चालू �धा� म�, पहली बार गलत शु�आत के मामले म�, एथलीट:
Ans 1. िनलंिबत होगा

2. चेतावनी दी जाएगी

3. दोबारा आरंभ कर सकता है

4. अयो� होगा

Question ID : 26433059452
Status : Answered

Chosen Option : 4

Q.35 टो�ो 2020 पैरालंिपक गे� के कां� पदक िवजेता मनोज सरकार का संबंध िन�िल�खत म� से िकस
खेल से है?

Ans 1. टेबल टेिनस

2. शूिटंग

3. बैडिमंटन

4. एथलेिट�

Question ID : 26433054661
Status : Answered

Chosen Option : 2

Q.36 तारीख़-ए-मुबारक शाही िद�ी स�नत का फारसी भाषा का इितहास है, इसके लेखक कौन थे?
Ans 1. जवाहर-फी-जवािहर

2. तारीख़-ए-िफरोज शाही

3. यािहया िबन अहमद सरिहंदी

4. खज़ैन-उल-फ़ुतुह

Question ID : 26433099216
Status : Answered

Chosen Option : 2

Q.37 ऑ��ेिलया और कनाडा जैसे �शािसत उपिनवेशो ंके मॉडल पर ि�िटश सा�ा� के भीतर '�रा�' या
�शासन के दावे को 1905 म� कां�ेस के मंच से िकसने सामने रखा था?

Ans 1. िबिपन चं� पाल

2. गोपाल कृ� गोखले

3. दादाभाई नौरोजी

4. लाला लाजपत राय

Question ID : 26433094856
Status : Answered

Chosen Option : 2
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Q.38 पा�रतं� म� िविभ� �रो ंपर रहने वाली िविभ� �जाितयो ंके ऊ�ा�धर िवतरण को ______ कहा जाता
है।

Ans 1. उपशाखन

2. �र-िव�ास

3. समतलन

4. समूहीकरण

Question ID : 26433054042
Status : Answered

Chosen Option : 2

Q.39 िन�िल�खत म� से कौन सी पृ�ी की �मुख िववत�िनक �ेटो ंम� से एक नही ंहै?
Ans 1. �शांत �ेट

2. नाज़का �ेट

3. पूव� अटलांिटक तल �ेट के साथ अ�ीका

4. भारत-ऑ�� ेिलया-�ूजील�ड �ेट

Question ID : 26433054944
Status : Not Answered

Chosen Option : --

Q.40 ब�ो ंकी िश�ा से संबंिधत अंितम उप-धारा (k) 2002 म� मौिलक कत��ो ंके एक भाग के �प म� जोड़ी
गई थी। इस संशोधन को संिवधान म� ___________ के तहत शािमल िकया गया था।

Ans 1. अनु�ेद 48A

2. अनु�ेद 32A

3. अनु�ेद 11A

4. अनु�ेद 21A

Question ID : 26433054526
Status : Answered

Chosen Option : 4

Q.41 िन�िल�खत म� से कौन-सा कथन सही है?
Ans 1. परमाणु ि��ा आवत� सारणी म� िकसी आवत� म� आगे की ओर बढ़ते �ए घटती है और िकसी समूह म�

नीचे की ओर जाते �ए बढ़ जाती है।
2. परमाणु ि��ा आवत� सारणी म� िकसी आवत� म� आगे की ओर बढ़ते और िकसी समूह म� नीचे की ओर

जाते �ए घट जाती है।
3. परमाणु ि��ा आवत� सारणी म� िकसी आवत� म� आगे की ओर बढ़ते �ए और िकसी समूह म� नीचे की

ओर जाते �ए बढ़ जाती है।
4. परमाणु ि��ा आवत� सारणी म� िकसी आवत� म� आगे की ओर बढ़ते �ए बढ़ती जाती है और िकसी

समूह म� नीचे की ओर जाते �ए घट जाती है।

Question ID : 26433054023
Status : Answered

Chosen Option : 1
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Q.42 चावल की खेती के संदभ� म�, रा� और फसल के �कार का कौन सा/से यु� सुमेिलत है/ह�?
I. पंजाब – िनवा�ह फसल
II. ओिडशा – वािण��क फसल

Ans 1. न तो I और न ही II

2. केवल I

3. I और II दोनों

4. केवल II

Question ID : 26433059216
Status : Answered

Chosen Option : 3

Q.43 �िस� िसतार वादक पं. रिवशंकर को भारत र� से िकस वष� म� स�ािनत िकया गया था?
Ans 1. 1995 

2. 1998

3. 1999

4. 1996

Question ID : 26433054384
Status : Answered

Chosen Option : 3

Q.44 भारतीय रा�� ीय कृिष आयोग (1976) ने सामािजक वािनकी को िकतनी �ेिणयो ंम� वग�कृत िकया है?
Ans 1. 4

2. 3

3. 2

4. 5

Question ID : 26433071623
Status : Not Answered

Chosen Option : --

Q.45 िन�िल�खत म� से �ा हड़�ा वा�ुकला म� एक दुग� के भाग नही ंथे?
Ans 1. धािम�क समारोहो ंके िलए अि� वेिदयां

2. जनता के िलए आवासीय भवन

3. अनाज के भ�ार

4. मह�पूण� लोगो ंके िलए वृहद �ानागार

Question ID : 26433070824
Status : Answered

Chosen Option : 2

Q.46 िन�िल�खत म� से �ा हाइड� ोजन का रेिडयो सम�थािनक है?
Ans 1. थो�रयम

2. ट� ाइिटयम

3. टे�ेिटयम

4. ज़ीनॉन

Question ID : 26433055086
Status : Answered

Chosen Option : 2
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Q.47 रा�� पित की प�रल��यां तथा भ�े और उनके काया�लय से संबंिधत अ� �य भारत के/की _______ म�
�भा�रत िकए जाते ह�।

Ans 1. संिचत िनिध

2. आक�� मकता िनिध

3. �ा� कलन िनिध

4. लोक लेखा कोष

Question ID : 26433069864
Status : Answered

Chosen Option : 1

Q.48 मौिलक कत�� ________ पर लागू होते ह�।
Ans 1. नाग�रकों

2. सरकार

3. िवधान मंडल

4. रा�

Question ID : 26433069890
Status : Answered

Chosen Option : 1

Q.49 कौन-सा लोकनृ� देवी दुगा� और मिहषासुर के बीच कृि�म यु� को दशा�ता है?
Ans 1. भांगड़ा

2. डांिडया रास

3. कालबेिलया

4. रासलीला

Question ID : 26433054259
Status : Answered

Chosen Option : 2

Q.50 उ�किटबंधीय सदाबहार वनो ंके संबंध म� िन�िल�खत म� से कौन सी िवशेषता सही नही ंहै?
Ans 1. इन वनो ंम� वष� म� लगभग 100 cm वषा� होती है।

2. ये उ� और आ��  �े�ो ंम� पाए जाते ह�।

3. इन वनो ंम� पेड़ो ंकी ऊंचाई 60 m या इससे अिधक होती है।

4. ये वन अ�ी तरह से �रीकृत होते ह�।

Question ID : 26433071622
Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude
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Q.1 �मशः  10 cm, 8 cm और 6 cm ि��ा वाले धातु के तीन गोलो ंको िपघलाकर 12 cm ि��ा का एक
ठोस शंकु बनाया जाता है। शंकु का व� पृ�ीय �े�फल �ात कीिजए, जो दशमलव के दो �थानो ंतक
सही हो। (π = 3.14 लीिजए)

Ans 1. 

2. 

3. 

4. 

Question ID : 26433075532
Status : Not Answered

Chosen Option : --

Q.2 यिद 8764x5 एक ऐसी सं�ा है जो 9 से िवभा� है, तो x का �ूनतम संभािवत मान �ात कीिजए, जहाँ
x दो अंको ंकी सं�ा है।

Ans 1. 18

2. 14

3. 15

4. 06

Question ID : 26433058123
Status : Answered

Chosen Option : 3

Q.3 यिद सं�ा 6336633P, 132 �ारा िवभा� है, तो P का मान �ा होगा?
Ans 1.  2 

2.  3 

3.  6 

4.  4 

Question ID : 26433061121
Status : Answered

Chosen Option : 3

Q.4

Ans 1. 443

2. 401

3. 356

4. 256

Question ID : 26433061296
Status : Not Answered

Chosen Option : --
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Q.5

Ans 1. 163 : 179

2. 537 : 389

3. 389 : 537

4. 179 : 163

Question ID : 26433061741

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.6

Ans 1. 2 sin A

2. 2 cos A

3. 2 cosec A

4. 2 sec A

Question ID : 26433061931
Status : Answered

Chosen Option : 1

Q.7

Ans 1. C

2. A

3. B

4. E

Question ID : 26433079963
Status : Answered

Chosen Option : 3
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Q.8 एक वृ� की एक जीवा उसकी 9 cm लंबाई की ि��ा के बराबर है। इसके �ारा दीघ� वृ� खंड म� अंत�रत
कोण �ात कीिजए।

Ans 1. 120°

2. 60°

3. 90°

4. 30°

Question ID : 26433061756
Status : Answered

Chosen Option : 2

Q.9 दो िपंडो ंकी चाल का अनुपात 2 : 3 है। यिद 50 m की दूरी तय करने म� लगे समय का अंतर 10 सेकंड है,
तो उनकी चाल म� अंतर �ात कीिजए।

Ans
1. 

2. 

3. 

4. 

Question ID : 26433063795
Status : Not Answered

Chosen Option : --

Q.10 यिद a2 + b2 + 1 = 2a है, तो a4 + b7 का मान � या है?
Ans 1. 2

2. 0

3. 1

4. 4

Question ID : 26433072985
Status : Not Answered

Chosen Option : --

Q.11 वह सबसे बड़ा धना�क पूणा�क कौन सा है िजससे 554, 714 और 213 को िवभािजत करने पर शेशफल
�मशः  43, 57 और 67 �ा� होते ह�?

Ans 1. 73

2. 95

3. 83

4. 71

Question ID : 26433064882
Status : Answered

Chosen Option : 1
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Q.12 AB कंपनी के उ�ादन म� एक वष� के बाद 10% की वृ�� �ई, और अगले वष� म� 22% की वृ�� �ई।
तीसरे वष� म� इसम� 5% की वृ�� �ई। मूल उ�ादन से तीन वष� म� उ�ादन म� �ा सम� प�रवत�न (% म�)
�आ है?

Ans 1. 41.5%

2. 41.2%

3. 40.9%

4. 42.8%

Question ID : 26433058784
Status : Answered

Chosen Option : 3

Q.13

Ans 1. 0

2. 1

3. 2

4. -1

Question ID : 26433066410
Status : Answered

Chosen Option : 3

Q.14 यिद X, Y, Z और W चतुथा�नुपात म� ह�। X = 3, Y = 13 और W = 39 है, तो Z का मान �ात कीिजए।
Ans 1. 9

2. 5

3. 20

4. 15

Question ID : 26433071323
Status : Answered

Chosen Option : 1

Q.15 एक आदमी 24 m पूव� की ओर और िफर 10 m उ�र की ओर जाता है। वह अपनी �ारंिभक ��थित से
िकतनी दूर है?

Ans 1. 23 m

2. 26 m

3. 24 m

4. 25 m

Question ID : 26433066371
Status : Answered

Chosen Option : 2
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Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 26433079797
Status : Not Answered

Chosen Option : --

Q.17

Ans 1. 45

2. 49

3. 38

4. 56

Question ID : 26433075819
Status : Not Answered

Chosen Option : --
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Q.18 एक सामा� बेलन की ि��ा �ा होगी िजसकी ऊँचाई 21 cm और व� पृ�ीय �े�फल 1386 cm2 है?
Ans 1. 3.5 cm

2.  7 cm

3. 10 cm

4. 10.5 cm

Question ID : 26433058254
Status : Answered

Chosen Option : 4

Q.19 एक दुकानदार अपनी व�ुओ ंको एक दोषपूण� तराजू का उपयोग करके बेचता है जो 25% कम तौलता
है। िफर वह अपनी व�ुओ ंपर �य मू� से 15% अिधक मू� अंिकत करता है। यिद वह 10% की छूट
भी देता है, तो 1 kg व�ुओ ंपर उसका शु� लाभ �ितशत �ात कीिजए।

Ans 1. 32%

2. 44%

3. 41%

4. 38%

Question ID : 26433075944
Status : Not Answered

Chosen Option : --

Q.20

Ans
1. 

2. 

3. 

4. 

Question ID : 26433076213
Status : Answered

Chosen Option : 4

Q.21 एक सुपरमाक� ट कुल �य मू� पर 5½% छूट और Rs.10,000 से अिधक की िब�ी पर ½% का बोनस
अिज�त करता है। यिद यह Rs.1,990 अिज�त करता है, तो कुल िव�य मू� �ा है?

Ans 1. Rs.14,000

2. Rs.34,000

3. Rs.16,000

4. Rs.24,000

Question ID : 26433073109
Status : Not Answered

Chosen Option : --
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Q.22 60 आदमी एक काम को 40 िदनो ंम� पूरा कर सकते ह�। वे एक साथ काम करना शु� करते ह� लेिकन
हर 10 िदन बाद 5 आदमी काम छोड़ देते ह�। काम िकतने िदनो ंम� पूरा हो पाएगा?

Ans 1. 45.5

2. 42.5

3. 49.5

4. 47.5

Question ID : 26433075103
Status : Not Answered

Chosen Option : --

Q.23 एक ब�े और एक ग�द की कीमत 9 : 5 के अनुपात म� है। ब�े की कीमत ग�द की कीमत से Rs.380
अिधक है। ग�द की कीमत �ात कर�।

Ans 1. Rs.470

2. Rs.475

3. Rs.485

4. Rs.480

Question ID : 26433064968
Status : Answered

Chosen Option : 2

Q.24

Ans 1. 65.89%

2. 74.36%

3. 70.89%

4. 72.87%

Question ID : 26433064946
Status : Not Answered

Chosen Option : --

Q.25 एक व�ु की कीमत म� पहले 25% की वृ�� की जाती है और बाद म� िब�ी घट जाने के कारण उसकी
कीमत म� 30% की कमी की जाती है। व�ु के अंितम मू� म� शु� वृ�� या कमी �ात कर�।

Ans 1. 11.5% वृ��

2. 12.5% कमी

3. 13% वृ��

4. 14% कमी

Question ID : 26433061246
Status : Answered

Chosen Option : 2
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Q.26 अजय ₹90 म� 18 संतरे खरीदता है और 15 संतरे ₹105 म� बेचता है। उसके लाभ का �ितशत �ात कर�।
Ans 1. 

2. 

3. 

4. 

Question ID : 26433063398
Status : Answered

Chosen Option : 2

Q.27

Ans 1. इितहास

2. सीएस (CS)

3. भूगोल

4. रसायन िव�ान

Question ID : 26433074466
Status : Not Answered

Chosen Option : --

Q.28

Ans 1. 

2. 

3. 

4. 

Question ID : 26433080245
Status : Not Answered

Chosen Option : --
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Q.29 एक दुकान म� एक कमीज़ की कीमत ₹700 है, िजस पर सभी �ाहको ंके िलए 10% की छूट उपल� है।
नकद भुगतान करने वाले �ाहको ंके िलए अित�र� 20% की छूट है। यिद �ाहक नकद म� भुगतान
करता है तो उसे कमीज़ के िलए िकतनी रािश का भुगतान करना होगा?

Ans 1. ₹523

2. ₹504

3. ₹514

4. ₹432

Question ID : 26433058791
Status : Answered

Chosen Option : 2

Q.30 िन�िल�खत समीकरण को हल कीिजए।
(73 - 72 + 6) × (63 - 23 - 32 + 1) ÷ (212 + 202 - 41) = __________.

Ans 1. 50

2. 40

3. 25

4. 75

Question ID : 26433061297
Status : Not Answered

Chosen Option : --

Q.31 25, 30, 50 और 75 का लघु�म समापव�� (LCM) �ात कीिजए।
Ans 1. 150

2. 1.50

3. 75

4. 15.0

Question ID : 26433063993
Status : Answered

Chosen Option : 1

Q.32 एक ट� क ह�रयाणा से ब�गलोर तक 60 km/h की औसत चाल से जाता है। या�ा म� 30 घंटे लगते ह�। यह
ब�गलोर से ह�रयाणा के िलए उसी सड़क पर 40 km/h की औसत चाल से लौटता है। पूरे फेरे के दौरान
ट� क की औसत चाल �ा थी?

Ans 1. 60 km/h

2. 48 km/h

3. 50 km/h

4. 40 km/h

Question ID : 26433056868
Status : Answered

Chosen Option : 2
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Q.33

Ans 1. 

2. 

3. 

4. 

Question ID : 26433061775
Status : Answered

Chosen Option : 2

Q.34 तीन ��� P, Q, R एक वृ�ाकार ट� ैक पर �मशः  3 km/h, 4 km/h, 6 km/h की चाल से दौड़ते ह�। यिद
ट� ैक की लंबाई 36 km है, तो वे िफर से शु�आती िबंदु पर िकतने समय बाद िमल�गे?

Ans 1.  24 घंटे 

2.  36 घंटे 

3.  28 घंटे 

4.  38 घंटे 

Question ID : 26433061171
Status : Answered

Chosen Option : 2

Q.35

Ans 1. 2

2. 0

3. 1

4. −1

Question ID : 26433058985
Status : Not Answered

Chosen Option : --

Q.36 108, 72 और 5a का उ�तम सामा� गुणनखंड है a. 108, 72 और a का लघु�म समापव�� �ा हो
सकता है?

Ans 1. 108

2. 216

3. 324

4. 432

Question ID : 26433066163
Status : Not Answered

Chosen Option : --
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Q.37

Ans 1. 2016

2. 2018

3. 2019

4. 2017

Question ID : 26433075105
Status : Not Answered

Chosen Option : --

Q.38 364 और 724 का मह�म समापवत�क �ात कीिजए।
Ans 1. 364 

2.  6

3.  2

4. 4 

Question ID : 26433065032
Status : Answered

Chosen Option : 3

Q.39 12 cm ि��ा वाले वृ� पर बा� िबंदु 'A' से एक �श� रेखा खीचंी जाती है। यिद �श� रेखा की लंबाई 5
cm है, तो वृ� के क� � से िबंदु 'A' की दूरी िकतनी है?

Ans 1. 17 cm

2. 13 cm 

3. 7 cm

4. 9 cm

Question ID : 26433058427
Status : Answered

Chosen Option : 1
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Q.40 यिद cosecA + cotA = m है, तो cosecA – cotA का मान �ा होगा?
Ans

1. 

2. 

3. 

4. 

Question ID : 26433062687
Status : Answered

Chosen Option : 1

Q.41 एक वृ� का �े�फल 1,386 cm2 है। वृ� की ि��ा �ा होगी? [ π = 22/7]
Ans 1. 14 cm

2. 21 cm

3. 7 cm

4. 18 cm

Question ID : 26433061285
Status : Answered

Chosen Option : 2

Q.42 एक टंकी म� 3 नल, A, B और C लगे ह�। ये टंकी को �मशः  10 घंटे, 20 घंटे और 25 घंटे म� भर सकते ह�।
शु� म� तीनो ंनल एक साथ खोले जाते ह�। 2 घंटे के बाद नल C को बंद कर िदया जाता है और A और B
को चालू रखा जाता है। 4 घंटे के बाद नल B को भी बंद कर िदया जाता है। शेष टंकी को नल A �ारा
अकेले भरा जाता है। नल A �ारा अकेले िकए गए काय� का �ितशत �ात कर�।

Ans 1. 72%

2. 52%

3. 32%

4. 75%

Question ID : 26433075277
Status : Not Answered

Chosen Option : --

Q.43

Ans 1. 2018

2. 2019

3. 2021

4. 2020

Question ID : 26433079964
Status : Not Answered

Chosen Option : --
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Q.44 यिद Rs. 7,500 की रािश च�वृ�� �ाज पर 8% �ित वष� की दर से 1.5 वष� के िलए िनवेश की जाती है,
जबिक �ाज अध�वािष�क �प से च�वृ�� िकया जाता है, तो िम�धन �ात कीिजए।

Ans 1. Rs.8,564.48

2. Rs.8,736.48

3. Rs.8,436.48

4. Rs.8,657.48

Question ID : 26433063791
Status : Not Answered

Chosen Option : --

Q.45 यिद Cos θ + Sin θ = √2 Cos θ है, तो (cos θ - Sinθ) का मान �ात कीिजए।
Ans 1. 

2. 

3. 

4. 

Question ID : 26433061763
Status : Answered

Chosen Option : 3

Q.46 एक शीत भंडार की लंबाई, इसकी चौड़ाई से 5 गुनी और ऊँचाई 8 m है। इसकी चार दीवारो ं(दरवाजो ं
सिहत) का �े�फल 720 m2 है। शीत भंडार का संपूण� पृ�ीय �े�फल �ात कीिजए।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433075534
Status : Not Answered

Chosen Option : --

Q.47 तीन असमान भागो ंकी या�ा म�, एक कार पहले भाग की 200 km की दूरी 4 घंटे म� तय करती है, जबिक
दूसरे भाग की 162 km की दूरी, 15 m/s की चाल से तय करती है। इसने अंितम भाग की शेष दूरी को 4
घंटे म� इस �कार तय कर दी िक पूरी या�ा के िलए कार की औसत चाल 50 km/h हो गई। या�ा के
तीसरे भाग म� कार की चाल �ा थी?

Ans 1.  52 km/h

2.  47 km/h

3.  45 km/h

4.  42 km/h

Question ID : 26433063347
Status : Not Answered

Chosen Option : --
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Q.48 रिव और िशव की मािसक आय 1 : 2 के अनुपात म� है और उनके मािसक �य 1 : 3 के अनुपात म� है।
यिद ��ेक �ित माह ₹4,000 की बचत करता है, तो िशव की मािसक आय �ात कर�।

Ans
1. 

2. 

3. 

4. 

Question ID : 26433063406
Status : Not Answered

Chosen Option : --

Q.49 पांच अंको ंकी वह बड़ी से बड़ी सं�ा कौन सी है जो 13, 15, 18 और 21 से िवभा� है?
Ans 1. 98280

2. 96840

3. 99120

4. 95830

Question ID : 26433064888
Status : Not Answered

Chosen Option : --

Q.50 15 प�रणामो ंका औसत 21 है। उनम� से पहले 7 का औसत 21 है और अंितम 7 का औसत 20 है। 8वां
प�रणाम �ा है?

Ans 1. 28

2. 31

3. 22

4. 25

Question ID : 26433074264
Status : Answered

Chosen Option : 1

Q.1 Select the most appropriate synonym of the given word.
Peculiar

Ans 1. Perplexed

2. Customary

3. Unusual

4. Proven

Question ID : 26433059521
Status : Answered

Chosen Option : 2

Section : English Comprehension
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Q.2 Select the most appropriate meaning of the given idiom.

To be on thin ice
Ans 1. To be in faulty situation

2. To be in a risky situation 

3. To be in limited scope 

4. To be in marginalised situation

Question ID : 26433073649
Status : Answered

Chosen Option : 2

Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

As is usual with stories of this genre, / in spite of their varying socio political realities,
/ the youngsters have fallen in love / with each other madly.

Ans 1. As is usual with stories of this genre

2. with each other madly

3. in spite of their varying socio political realities

4. the youngsters have fallen in love

Question ID : 26433055587
Status : Not Answered

Chosen Option : --

Q.4 Identify the INCORRECTLY spelt word in the given sentence.

Because of some inevitable circamstances, the conference was postponed indefinite,
indefinitely but the members could not be informed.

Ans 1. Conference 

2. Indefinite

3. Inevitable

4. Circamstances

Question ID : 26433059719
Status : Answered

Chosen Option : 4

Q.5 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
The research fellow defended / his thesis scholarly / and obtained the degree.

Ans 1. his thesis scholarly

2.  The research fellow defended

3.  No error

4.  and obtained the degree

Question ID : 26433060135
Status : Not Answered

Chosen Option : --
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Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

I will be gone to buy a cupboard which will fit under the stairs.
Ans 1. am going to buying

2. will be buy

3. will going to buy

4. am going to buy

Question ID : 26433060274
Status : Answered

Chosen Option : 4

Q.7 Select the correct meaning of the idiom in bold and italics. 
Our hearts go out to the families of the victims of this terrible tragedy.

Ans 1. Well wishes for a deceased person 

2. To wish for things does not yield to anything 

3. To receive or express praise for a job well done 

4. To feel sympathy for someone when they are distressed 

Question ID : 26433059661
Status : Answered

Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.

Intense
Ans 1. Faint  

2. Regular  

3. Rough  

4. Stationary  

Question ID : 26433088270
Status : Answered

Chosen Option : 1

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

I am sure you can win the match if you try hardly.
Ans 1. if you try hard

2. if you will try hardly

3. if you are trying hardly

4. if you trying hard

Question ID : 26433060277
Status : Answered

Chosen Option : 1

https://applink.adda247.com/d/XhqWf9lSap
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Q.10 Select the most appropriate meaning of the given idiom.

A lot on one’s plate
Ans 1. To eat a lot

2. To have a serious ailment

3. A lot to do

4. To serve all dishes on one plate

Question ID : 26433059529
Status : Answered

Chosen Option : 3

Q.11 Select the most appropriate meaning of the underlined idiom.
In the movie ‘Encanto’, the family thought Bruno was a black sheep.

Ans 1. Unrelated to the family 

2. Unloved by the family 

3. Disgrace for the family 

4. Danger to the family 

Question ID : 26433060187
Status : Answered

Chosen Option : 3

Q.12 Select the most appropriate meaning of the underlined segment in the given sentence.
Ms. Tina could finish the assignment by Friday - at a push, Wednesday.

Ans 1. try very hard to do something, usually something nice 

2. using whatever methods are necessary  

3. make more of an effort 

4. probably possible, but it will be difficult  

Question ID : 26433059817
Status : Answered

Chosen Option : 2

Q.13 Select the most appropriate meaning of the given idiom.
Toffee-nosed

Ans 1. A solid, respectable and respected member of society 

2. A person who seems impolite/of low education at first, but who is usually of good
character

3. A person who thinks he is of a high social class and looks down on people of lower
class 

4. Continue to live at the same social standard we have lived at, even though we have
money problems

Question ID : 26433060461
Status : Not Answered

Chosen Option : --

Q.14 Substitute one word for the italicised expression. 
When her teacher calls her a person who cannot be corrected, she laughs at herself.

Ans 1. obedient

2. manageable

3. incorrigible

4. reformable

Question ID : 26433059630
Status : Not Answered

Chosen Option : --
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Q.15 Select the most appropriate ANTONYM of the given word.

Separable
Ans 1. Indivisible

2. Branched

3. Judicious

4. Liable

Question ID : 26433089061
Status : Not Answered

Chosen Option : --

Q.16 Select the most appropriate synonym of the given word.
Contrary

Ans 1. Straight

2. Wobbly

3. Opposite

4. Crooked

Question ID : 26433066107
Status : Not Answered

Chosen Option : --

Q.17 Identify the INCORRECTLY spelt word in the given sentence.

Food spoliage refers to an irreversible modification in which food becomes inedible or
its quality is compromised.

Ans 1. spoliage

2. modification

3. inedible

4. irreversible

Question ID : 26433059976
Status : Not Answered

Chosen Option : --

Q.18 Select the most appropriate synonym to replace the italicised word. 
If you feel good, then you will portray that attitude and look fabulous no matter what!

Ans 1. garble

2. distort

3. falsify

4. depict

Question ID : 26433059643
Status : Not Answered

Chosen Option : --
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Q.19 Select the most appropriate meaning of the underlined idiom.

He is in high spirits today.
Ans 1. Cheerful  

2. Drunk  

3. Annoying  

4. Disturbed  

Question ID : 26433088276
Status : Answered

Chosen Option : 1

Q.20 Select the most appropriate meaning of the given idiom.

A lame excuse
Ans 1. No excuse  

2.  Explanation

3.  Strong excuse

4.  Weak excuse

Question ID : 26433060120
Status : Answered

Chosen Option : 4

Q.21 Select the option that can be used as a one-word substitute for the given group of
words.

To become a strong person in spite of many difficulties.
Ans 1. Anxious

2. Triggered

3. Safe

4. Resilient

Question ID : 26433060099
Status : Answered

Chosen Option : 4

Q.22 Select the INCORRECTLY spelt word
Ans 1. Knowing  

2. Cooking  

3. Liveing  

4. Loving  

Question ID : 26433060231
Status : Answered

Chosen Option : 1
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Q.23 Select the most appropriate meaning of the given idiom.

A slap on the wrist
Ans 1. A very mild punishment.

2. Suggest something secretly.

3. Punishment to an innocent.

4. Beating someone too much on the wrist.

Question ID : 26433073204
Status : Answered

Chosen Option : 1

Q.24 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

I always encouraging people to read books which I have enjoyed reading myself.
Ans 1. encouraged people read books

2. am encouraged people reading books

3. encourage people to read books

4. encourage people to be reading books

Question ID : 26433060268
Status : Answered

Chosen Option : 3

Q.25 Identify the sentence that correctly uses the indefinite article.
Ans 1. In big city like Mumbai, we see a lot of rubbish being thrown from households and

factories. 
2. In a big city like Mumbai, we see a lot of rubbish being thrown from households and

factories.
3. In a big city like Mumbai, we see an lot of rubbish being thrown from households and

factories.
4. In an big city like Mumbai, we see lot of rubbish being thrown from households and

factories.

Question ID : 26433059558
Status : Answered

Chosen Option : 1

Q.26 Select the most appropriate ANTONYM of the underlined word in the given sentence.

He leaves behind an indelible contribution to the financial world.
Ans 1. futile

2. durable

3. temporary

4. solitary

Question ID : 26433092308
Status : Answered

Chosen Option : 1
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Q.27 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.
What exactly is your problem with me?

Ans 1. definitely is your

2.  entirely is your

3.  finally is your

4.  No improvement required 

Question ID : 26433060765
Status : Answered

Chosen Option : 1

Q.28 Read the given sentence and select the most appropriate ANTONYM of the word
‘Dilemma’ from the following options.

The solutions given for the frequently asked questions were written so poorly that the
buyers disliked the products.

Ans 1. frequently

2. solution

3. disliked

4. poorly

Question ID : 26433089725
Status : Answered

Chosen Option : 4

Q.29 Select the most appropriate option that can substitute the underlined word in the
given sentence.

None of the countries involved in war were ready to broach the issue of retreat.
Ans 1. bring up for discussion

2. disregard contemptuously

3. underestimate the worth of  

4.  turn down thoughtlessly

Question ID : 26433070497
Status : Not Answered

Chosen Option : --

Q.30 Select the most appropriate ANTONYM of the given word.

Pensive
Ans 1. Hollow 

2. Unreflective 

3. Frivolous

4. Goofy 

Question ID : 26433089386
Status : Not Answered

Chosen Option : --
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Q.31 Select the INCORRECTLY spelt word.
Ans 1. Illiterate 

2. Elementary 

3. Alliterate 

4. Alimentery 

Question ID : 26433060473
Status : Answered

Chosen Option : 4

Q.32 Select the option that can be used as a one-word substitute for the given group of
words.

A large group of people
Ans 1. Horde

2. Flock

3. Herd

4. Convocation

Question ID : 26433060351
Status : Answered

Chosen Option : 2

Q.33 Select the most appropriate idiom for the underlined segment in the given sentence.

The evidence put forward could not confirm his guilt.
Ans 1. Break down

2. Bear up

3. Bring up

4. Blow off

Question ID : 26433072862
Status : Answered

Chosen Option : 3

Q.34 Select the most appropriate synonym of the given word.

Penchant
Ans 1. Liking

2. Bitterness

3. Disliking

4. Sourness

Question ID : 26433071833
Status : Not Answered

Chosen Option : --
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Q.35 Select the most appropriate synonym of the given word.

Cogent
Ans 1. Insane

2. Coward

3. Rational

4. Tyrannical

Question ID : 26433058326
Status : Not Answered

Chosen Option : --

Q.36 Read the given sentence and select the most appropriate ANTONYM of the word ‘Sane’
from the following options.

We started the day by going on a crazy ride, then we had a delicious lunch and then
beautiful sightseeing to end the evening.

Ans 1. end

2. delicious

3. crazy

4. beautiful

Question ID : 26433089728
Status : Answered

Chosen Option : 2

Q.37 Select the INCORRECTLY spelt word.
Ans 1. Square

2. Colomn  

3. Peace 

4. Scale

Question ID : 26433060423
Status : Answered

Chosen Option : 2

Q.38 Select the option that can be used as a one-word substitute for the given group of
words.

Person living at the same time
Ans 1. Connoisseur  

2. Cosmopolitan  

3. Contemporary  

4. Coquette

Question ID : 26433059707
Status : Answered

Chosen Option : 3
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Q.39 Select the most appropriate ANTONYM of the given word.

Vigorous
Ans 1. Robust  

2. Buoyant  

3. Sturdy

4. Frail  

Question ID : 26433060693
Status : Answered

Chosen Option : 3

Q.40 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

She has let herself be gone after her divorce.
Ans 1. let herself gone

2. let her go in

3. let herself go 

4. let herself going

Question ID : 26433060945
Status : Answered

Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.
Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.
Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.
Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 41
Q.41 What is the tone of the passage?
Ans 1. Dejected

2. Informative

3. Authoritative 

4. Anxious

Question ID : 26433090479
Status : Answered

Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.
Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.
Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.
Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 42
Q.42 Select an appropriate title for the passage.
Ans 1. Stress and Relief 

2. Life and Stress

3. Stress and its Consequences

4. Levels of Stress in Different Age Groups 

Question ID : 26433090478
Status : Answered

Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.
Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.
Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.
Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 43
Q.43 Which situation does NOT lead to stress?
Ans 1. Finding a penny on the ground

2. Losing a toy as a child

3. Giving exams as a teenager 

4. Loss of job as an adult

Question ID : 26433090480
Status : Answered

Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.
Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.
Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.
Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 44
Q.44 Select the most appropriate ANTONYM of ‘success’ from the passage.
Ans 1. Failure 

2. Default

3. Neglect

4. Laxity 

Question ID : 26433090482
Status : Not Answered

Chosen Option : --
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Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.
Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.
Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.
Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 45
Q.45 What does excessive stress NOT result in?
Ans 1. Indigestion

2. Palpitation

3. Relaxation

4. Hypertension

Question ID : 26433090481
Status : Answered

Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1)_______ progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2)_______ gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3)_______, women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women’s rights. The coronavirus outbreak (4)_______ existing
inequalities for women and girls across every sphere – from health and the economy to
security and social protection.Women play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5)_______ of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 46
Q.46 Select the most appropriate option to fill blank 1.
Ans 1. has been

2. are

3. is

4. were

Question ID : 26433060249
Status : Answered

Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1)_______ progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2)_______ gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3)_______, women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women’s rights. The coronavirus outbreak (4)_______ existing
inequalities for women and girls across every sphere – from health and the economy to
security and social protection.Women play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5)_______ of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 47
Q.47 Select the most appropriate option to fill blank 2.
Ans 1. advance

2. hinder

3. impede

4. retract

Question ID : 26433060250
Status : Answered

Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1)_______ progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2)_______ gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3)_______, women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women’s rights. The coronavirus outbreak (4)_______ existing
inequalities for women and girls across every sphere – from health and the economy to
security and social protection.Women play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5)_______ of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 48
Q.48 Select the most appropriate option to fill blank 3.
Ans 1. limited

2. rare

3. narrow

4. pervasive

Question ID : 26433060251
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1)_______ progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2)_______ gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3)_______, women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women’s rights. The coronavirus outbreak (4)_______ existing
inequalities for women and girls across every sphere – from health and the economy to
security and social protection.Women play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5)_______ of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 49
Q.49 Select the most appropriate option to fill blank 4.
Ans 1. aid

2. exacerbates

3. placate

4. appease

Question ID : 26433060252
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1)_______ progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2)_______ gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3)_______, women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women’s rights. The coronavirus outbreak (4)_______ existing
inequalities for women and girls across every sphere – from health and the economy to
security and social protection.Women play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5)_______ of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 50
Q.50 Select the most appropriate option to fill blank 5.
Ans 1. impacts

2. frivolity

3. paltriness

4. impertinence

Question ID : 26433060253
Status : Answered

Chosen Option : 1
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